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rte value of oxidation number of mn in K i
2.ﬁwﬁf@aﬁm#¢aﬁﬁﬁwaﬁéiwq o |
(i) 0.0023 (ii) 2.000
(iii) 20 370 (iv)236.7
Write significant figures :
- (i) 0.0023 (ii) 2.000
(iii) 20 eggs (iv) 236.7

3. Cr &1 SR fa=ma fafau | |

Write electronic configuration of Cr.

4. 102 YTHIY] AT ST a9 & [UPAC ™ fafau) 1
Write IUPAC Nomenclature of Atomic Number 102,

5.C, 9 C, ¥ gy fafau I
Write relation in betweenC), and C,. .

6. N & O T &t ggd fag "t faf@u .« ]
Write Lewis dot structureof Nand 0. |

7.2 9M H,0% fFe A 27 |
How many moles of 2 gm H,0?

8. fta T8 74 & W fafau) |
Write the name of Green House gases.

9. TREISA & THEAHI % T fafgu :
Write the name of Hydrogen’s Isotope. :

]O_ﬁmmw&ﬁﬁn,ﬂm.swmﬁﬁmm— l

3p:

Write value of quantum numbers n, /, m, s for 3p_. electronic configuration,

tl.Hzo'q'CHJ‘Ef?%lﬁUﬁ'a?Wﬁf‘?lf@Ql |

Write value of Bondangle in H,Oand CH,. '
12. NH, & NF; ¥ f#d 37u] 1 fgga st ﬁw%ﬁﬂ?

Which molecule have more dipole moment NH, and NF; and why?

13, firm W fewof fafae— I+1=2

[

Write the comment below : |
P.T.O.
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(i) Boyle’s law (ii) Avogadro’s law

14. AT 3w fafa zra fre wdftestor &) dqfea sfau— 2

H

Cr,05" (aq)+ SO, (g) - »Cr'* + 80! (aq)
Balance the following equation by oxidation number method :
H+
Cr,0;” (ag) + SO, (g) —— Cr’* +50; (aq)

15mﬂmamﬁmmmﬁﬁm b+
Describe the temporary and permanent hardness of water.
16. 31 T8 & FRU T G9E F qui FHifIU) ' 7
Describe the reason and effect of Acidic Rain.
nﬁmm&ﬂ%aﬂmﬂaﬁmaﬂﬁq—— 12+12+1R2+12=2
(1) CoH,, O (ii) H, SO,
(iii) CO, (iv) CH
Ca]culate the molecular weight of the following molecules
(i))CH,,0; (i) H, SO,
(iii) CO, (iv) CH
Iswmw%?sp spdmﬂﬁwmﬂﬁaml : I+1+1=3
What is hybridisation? Explain the hybridisation of sp° and sp® 2. ¢
19. fr W feooft fafae— - [+1+1=3
(i) faEgraa 99" | (ii) IAR q9E
(iii) 3T
Write a comment on the following : |
(i) Hyperconjugation effect (i) Resonance effect
(iii) Ionizafion Enthalpy
20. (i) FoREEA ¥ 39 #1 fram fafauw ! [+1+1=3
(i) TRt &1 gaig frawm fafag)

(iii) SSEG Wehw el TR qiadq gres B o Taa: vafda @ 1 v ni?

(i) Write Hess’s law in thermochemistry.
(ii) Write third law of thermodynamics.
(iii) What will be conditions for spontaneity for exothermic process in whicp entropy change

is positive.

(i) %R U1 & g9 aifa faerd O o0 g1 &2 L+1+2=4

(i) CI i 3aaRTA =ifsr T=iefl F 9 3t 4 Bt 2
(iiii) Frerferfiaa wdieis N3, 07, F~, Na*,Mg?", A’ W 1 9wl 82 §¢ 31t e

F 9gd 9§ sgafeud Sifu)

~ (i) Why is alkali metal in liquid ammonia coloured?

(i) Why is electron gain enthalpy of Cl is greater than fluorine?
(iif) What is the similarity in the following species N°",0% ,F", Na*,Mg® and AI**?

Arrange them in increasing order of their ionic radii.
‘ P.T.O.
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22. (x)@mwm%ﬁm%?smcn # 207 0, ¥ 9 TG FO W HAA
Afvds T @1 8o 2+2=4

(i) C1¥* 7 C1¥" =t wofa A amgega waw: 75% 9 25%%?1‘7 st qoafoas gommE 1

(i) What is limiting reagent? What will be the limiting reagent in combustion of 8 gram CH,
with 20 gram O, .

ii) Natural abundance of CI** and C1"7 is 75% and 25% respectively then calculate average
atomic mass of chlorine.

23. frafafas & uPAC Tm fafge— . [+1+1+1+1=5
(i) CH; — CH, — CH—CH, |
N,
(i) CH, — C— CH,
|l
o @
(iii) CH, — CH, — CH, — COOH
(iv) CH, —CH, — C—CH, — CHO
| 1
cl o
Cl

UR

HO

Write the IUPAC name of the following :
(i) CH, — CH, — CH— CH,
| NO:
(i) CH;, — C—CH,
||
O
(iii) CH, — CH, — CH, — COOH
(iv)CH; — CH, —C—CH, —CHO
| I

Cl O
Cl

V)

HO . , P.T.O.



(4) | HN

| 319a/OR

(i) ¥ ¥ 787 % wgfer e ffa AR
(ii) C H,, ¥ W=l Someraai & wreerenl &gy @ IUPAC W fefawl

(iii) THfEF 3 %1 g3 § [UPAC ™ fafaw

(iv) SR o1 1 g3 7 [UPAC T FerfaT)

(1) Write balanced combustion equation for benzene.

(ii) Draw structure of structural isomers and write [UPAC name of CiH4-

(iii) Write formula and IUPAC name of acetic acid.

(iv) Write formula and IUPAC name of oxalic acid.

24. FrAfefae sifuafsraell 1 qof #ifm— o I+1+1+1+1=5

()C+H02C

(ii) CaSO, + Na,CO, ——
523K

(ii) NaHCO; —

(iv) Al,O; + NaOH ——

(v)PbS+H,0, —>

Complete the following reactions :

(i) C+H,0 ————+900 ¢

(i) CaSO, + Na,CO, —
523K

(iii) NaHCO; ——>

(iv) Al,O; + NaOH ———

(v)PbS+H,0, —

- 317E/OR
(i) O, 3T] T SUHEH fad TEA I THF MR T HH 99 F7 q Grawig v =
HHARU - 3+1+1=5
(ii) TSl o1 3TgeS aH FHARU |

(iii) sitwarfies e #4122
(i) Draw molecular orbital diagram of O, molecule and explain bond order and magnetic

property on the basis of it.
(ii) Explain the Pauli’s exclusion principle.

(iii) What is formal charge?



